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2. 24 ∶ 7

3. 7 ∶ 24

4. 11 ∶ 18

A boy walked along two adjacent sides of a rectangular field. If he had walked along the 

diagonal, then he would have saved a distance equal to one-fourth of the larger side. The ratio 

of the smaller to the larger side is:

एक लड़का एक आयताकार मैदान की दो आसन्न भुजाओ ंके साथ चलता है। यदद वह दवकर्ण के साथ-साथ 

चलता, तो वह बड़़ी भुजा के एक-चौथाई के बराबर दूऱी बचा लेता। छोट़ी और बड़़ी भुजा का अनुपात है:
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2. 198

3. 172

4. 165

There are four different numbers. The average of the first three numbers is three times the 

fourth number, and the average of all the four numbers is 55. What is the sum of the first three 

numbers?

चार अलग-अलग संख्याए ँहैं। पहल़ी त़ीन संख्याओ ंका औसत चौथ़ी संख्या का त़ीन गुना है, और सभ़ी चार 

संख्याओ ंका औसत 55 है। पहल़ी त़ीन संख्याओ ंका योग क्या है?
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2. 55

3. 47.5

4. 50

In a class of 80 students, 60% are girls and the rest are boys. The average weight of boys is 5% 

more than that of girls. If the average weight of all the students is 51 kg, then what is the 

average weight (in kg) of the girls?

80 छात्रों की एक कक्षा में 60% लड़दकयां हैं और शेष लड़के हैं। लड़कों का औसत वजन लड़दकयों की तुलना में 

5% अदिक है। यदद सभ़ी छात्रों का औसत वजन 51 दकग्रा है, तो लड़दकयों का औसत वजन (दकग्रा में) क्या है?
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2. 25,000

3. 23,200

4. 17,400

Rs. 63,800 is to be divided between A and B in the ratio 4 ∶ 7. The share (in Rs.) received by B is

63,800 रुपये को A और B के ब़ीच 4 : 7 के अनुपात में दवभादजत दकया जाना है। B को ्ा्त  दह्सा (रुपये में) है:
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2. 3

3. 6

4. 4

If 4 men can reap a field in 5 days working 9 hours a day, in how many hours can 10 men reap 

the same field working 3 days?

यदद 4 आदम़ी एक ददन में 9 घंटे काम करके 5 ददन में एक खेत काट सकते हैं, तो 10 आदम़ी 3 ददन काम करके उस़ी 

खेत को दकतने घंटे में काट सकते हैं?
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1. 1 h 12 min

2. 1 h 48 min

3. 1 h 36 min

4. 1 h 24 min

A train takes 1 hour 30 minutes to travel between two stations P and Q. If it travels at 5/6 of its 

usual speed, how long will it take to travel between P and Q?

एक टे्रन दो ्टेशनों P और Q के ब़ीच यात्रा करने में 1 घंटा 30 दमनट का समय लेत़ी है। यदद यह अपऩी सामान्य 

गदत से 5/6

गदत से यात्रा करत़ी है, तो P और Q के ब़ीच यात्रा करने में उसे दकतना समय लगेगा?
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1. 437476

2. 421797

3. 912577

4. 571279

In an election, the votes cast for two candidates were in the ratio 4 ∶ 9. If the successful 

candidate received 984321 votes, then the total votes received by the unsuccessful candidate is:

एक चुनाव में, दो उम्म़ीदवारों के दलए डाले गए वोट 4 : 9 के अनुपात में थे। यदद सफल उम्म़ीदवार को 984321 

वोट दमले, तो असफल उम्म़ीदवार को ्ा्त  कुल वोट है:



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level

1. 764

2. 586

3. 632

4. 720

What is the sum of the numbers between 300 and 400 such that when they are divided by 6, 12 

and 16, it leaves no remainder?

300 और 400 के ब़ीच की संख्याओ ंका योग क्या है दक जब उन्हें 6, 12 और 16 से दवभादजत दकया जाता है, तो 

कोई शेषफल नहीं रहता है?
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1. 6000

2. 4500

3. 5000

4. 3500

A person borrows Rs. 75,000 for 3 years at 7% simple interest. He lends it to B at 5% for 3 

years. What is his loss (in Rs.)? 

एक व्यदि 7% सािारर् ब्याज पर 3 वषों के दलए 75,000 रुपये उिार लेता है। वह इसे 5% की दर पर 3 वषों के 

दलए B को उिार देता है। उसकी हादन (रुपये में) क्या है?

•4500

•5000

•3500

•4500

•5000

•3500



Click to edit Master title style

• Edit Master text styles

• Second level

• Third level

• Fourth level

• Fifth level


